AEA #4

Each edge of the cube has length 5"
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2. Find area of triangle ABC if AB= 9", BC = 12’
and AC = 15
a. Find AF (diagonal of a face) H G _
'5'{\2. " E : 15
b. Find AG (diagonal of the cube) s' '_Z_é
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3. Find the area of the region interms of a, b, and ¢ 4. What is the area
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5. Find the area of the region bounded by an isosceles
triangle if the length of each of the congruent sides is

8 cm and a base angle has measure 30°
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6. Find the area of paralielogram ABCD

parallelogram with altitude DE | if

AB=10"AD = 4", m A= 300

5. 1643 cm?

6. a. 15 cm® , 20 cm?



(. FHIU LE died O AADBL and Be 8. ind AB and BC
A

24 cm
20 cm

E 15cm
207 y1e¥ ALY

24 BT LS
Y

= \ _
8. Rhombus ABCD with AC = 24’ and AB = 20/ 10. Find the area of the isosceles trapezoid ABCD
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11. Flnd BC (Hmt. Draw altitude from C) 12. The area of the region bounded by a square is 81 cm?.
The perimeter of the square is equal to the perimeter
of an equilateral triangle. Find the area of the triangle.
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